TABLEAU D'EQUIVALENCE

Distances

1 km =1 000 métres = 0,6 mille = 3 280,8 pi = 17,1 arpents
1 mille =5 280 pi = 1,6 km = 1 600 metres = 28 arpents

1 arpent = 192 pieds = 58,471 metres

Superficies
1 arpent2 = 0,844 acre = 0,342 hectare = 3 419 m2 = 36 800 pi2

1 acre = 1,184 arpents2 = 43560 pi2 = 0,405 hectare = 4046,9 m2
1 hectare = 10 000 m2 = 2,471 acres2 = 2,925 arpent2 = 110 889 pi2

Volumes

1 corde de 4' = 4'x8'x4' = 128 pi2 = 3,625 m3 app. = 2,3 m3 sol.

1 corde de 8' = 4'x8'x8' = 256 pi2 = 7,250 m3 app. = 4,4 m3 sol.

1 mpmp = 2,3 cordes 4' = 1,18 cordes de 8'

1tmv =1 000 kg = 2 202 Ibs = 0,532 tma bois dur = 0,457 tma peuplier
1tmi= 908 kg =2 000 Ibs = 0,908 tmv

Spécifications

Le bois au chemin doit étre accessible par camion en tout temps.
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